
5669 5669.5 5670 5670.5 5671
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

33

33.5

34

34.5

35

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

3

3.5

4

4.5

5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

6176

6176.5

6177

6177.5

6178

6178.5

6179

6179.5

6180

ru
n

run:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6178}



5669 5669.5 5670 5670.5 5671
cyclenum

75.5−

75−

74.5−

74−

73.5−

us
l_

1X
usl_1X:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

2.5

3

3.5

4

4.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

30.2

30.4

30.6

30.8

31

31.2

31.4

31.6

31.8

32

32.2

32.4

us
l_

4e
X

usl_4eX:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

16

16.5

17

17.5

18

us
l_

4e
Y

usl_4eY:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

38−

37.5−

37−

36.5−

36−

us
l_

12
X

usl_12X:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

6176

6176.5

6177

6177.5

6178

6178.5

6179

6179.5

6180

ru
n

run:cyclenum {run == 6178}



5669 5669.5 5670 5670.5 5671
cyclenum

120−

119.5−

119−

118.5−

118−

us
r_

1X

usr_1X:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

4.5

5

5.5

6

6.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

199

199.5

200

200.5

201

us
r_

4e
X

usr_4eX:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

11.5

12

12.5

13

13.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

41.5−

41−

40.5−

40−

39.5−u
sr

_1
2X

usr_12X:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

6176

6176.5

6177

6177.5

6178

6178.5

6179

6179.5

6180

ru
n

run:cyclenum {run == 6178}



5669 5669.5 5670 5670.5 5671
cyclenum

20680.6

20680.8

20681

20681.2

20681.4

20681.6

20681.8

20682

20682.2

20682.4

20682.6

20682.8

us
l_

co
il1

usl_coil1:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

3258

3258.5

3259

3259.5

3260

us
l_

co
il3

usl_coil3:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

4457.6

4457.8

4458

4458.2

4458.4

4458.6

4458.8

4459

4459.2

4459.4

4459.6

4459.8

us
l_

co
il4

usl_coil4:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

299−

298.5−

298−

297.5−

297−us
l_

co
il6

usl_coil6:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

2802

2802.5

2803

2803.5

2804

us
l_

co
il7

usl_coil7:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

6176

6176.5

6177

6177.5

6178

6178.5

6179

6179.5

6180

ru
n

run:cyclenum {run == 6178}



5669 5669.5 5670 5670.5 5671
cyclenum

17953−

17952.5−

17952−

17951.5−

17951−

us
r_

co
il1

usr_coil1:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

2495.5−

2495−

2494.5−

2494−

2493.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

4541

4541.5

4542

4542.5

4543

us
r_

co
il4

usr_coil4:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

339.8−

339.6−

339.4−

339.2−

339−

338.8−

338.6−

338.4−

338.2−

338−

337.8−

337.6−

us
r_

co
il6

usr_coil6:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

34194

34194.5

34195

34195.5

34196

us
r_

co
il7

usr_coil7:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

6176

6176.5

6177

6177.5

6178

6178.5

6179

6179.5

6180

ru
n

run:cyclenum {run == 6178}



5669 5669.5 5670 5670.5 5671
cyclenum

290.5−

290−

289.5−

289−

288.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

20−

19.5−

19−

18.5−

18−1X
_c

oi
l3

1X_coil3:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

308.6

308.8

309

309.2

309.4

309.6

309.8

310

310.2

310.4

310.6

310.8

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

311−

310.5−

310−

309.5−

309−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

41.5−

41−

40.5−

40−

39.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

257.2

257.4

257.6

257.8

258

258.2

258.4

258.6

258.8

259

259.2

259.4

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6178}



5669 5669.5 5670 5670.5 5671
cyclenum

196.6

196.8

197

197.2

197.4

197.6

197.8

198

198.2

198.4

198.6

198.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

51.5

52

52.5

53

53.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

13−

12.5−

12−

11.5−

11−4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

205

205.5

206

206.5

207

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

2.5−

2−

1.5−

1−

0.5−

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

11−

10.5−

10−

9.5−

9−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6178}



5669 5669.5 5670 5670.5 5671
cyclenum

234.5−

234−

233.5−

233−

232.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

82.5−

82−

81.5−

81−

80.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

1.5−

1−

0.5−

0

0.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

5.5

6

6.5

7

7.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

487−

486.5−

486−

485.5−

485−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6178}

5669 5669.5 5670 5670.5 5671
cyclenum

6176

6176.5

6177

6177.5

6178

6178.5

6179

6179.5

6180

ru
n

run:cyclenum {run == 6178}
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